=)
:
=
S
g

>

S 102
Nb
o)

10

1

2
0))]
<
|
l_
<

o 1
o
IS
e

0.5

13000 GeV pp U
_| L I B ! | T T T T L I_
B y' (ATLAS dileptonic ttbar) ]
— . 1
| . 1
L [ | N
| ﬂ:‘-:é?;::s;g_:g_:@i:;z;; . - _|
— m ATLAS TS =
C  —.o- Pythia 6.428 390 "ﬁ\?:\. a
C  -.o-- Pythia 6.428 391 RN .
— -—-%-- Pythia 6.428 392 \*‘C N )
- Pythia 6.428 396 NN N
| --%-- Pythia 6.428 397 "y

--¥-- Pythia 6.428 398
:| | | | ! | I | | | ' I ’:
| . . . . I ' ' ' ' | ' L
N L d .
— - P—m o -—m -7 . ]
SSiTiTimicicairiTimirswisf@LTiTisiCosio Q- ZiEiTITIIG
| |§. 1 . 1 . 1 .—_-l-__.--_I_v—.--_l_—-.-::l-zs.=.- :I--‘-_- | L 'é' 1
0 1 2

Dilepton [y"™"|times m"™

Rivet 3.1.10, = 2.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


